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A.Collections
B.List
C. Vector
D. Set

E. Array
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A.Vector
B. LinkedList
C. Hashtable
D. Arrays

E. HashSet
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A.Boolean
B. char
C. Integer
D.Double

E. String
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A.TreeSet
B. HashMap
C. LinkedHashMap

D. TreeMap
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A.Collection
B. Collections
C. CollectionSync

D.Arrays
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import java.util._*;

class Test

{
public static void main(String [] args)
{
LinkedHashSet set = new LinkedHashSet();
String[] s = {"S", T, "S", "R™, S, "P"};
for(int i=0; i<s.length; i++)
set.add(s[il]);
System.out.printin(set);
}
+
A [S, T,R,P]
B.[P,R, S, T]

C.[S,T,S,R,S,P]
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import java.util.*;

class Test

{
public static void main(String [] args)
{
int[] a = {7, 7, 73, 56, 17, 90, 7};:
TreeSet set = new TreeSet();
for(int i=0; i<a.length; i++)
set.add( a[i] );
System.out.printin(set);
}
¥

A.[7,7,73,56,17, 90, 7]
B. [73, 56, 17, 90, 7]
C.[7, 17, 56, 73, 90]
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import java.util.*;

class Test

{
public static void main(String [] args)
{
string[] k = {"Bt", "L RS, R, v
string[] v = {"FI™, "2, R, U,
HashMap map = new HashMap();
for(int 1=0; i<k.length; i++)
map.put(k[il, v[il]);
System.out.printin( map.-get(k[0]));
}
}
A F'l
B.
C.0
D.6

10. G it 07 equals() > ool SRR T 2 B

A. compareTo()
B. hashCode ()
C. toString(Q

D. getHashCode()
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import java.util.*;
class Test
{
public static void main(String [] args)
{
TreeMap map = new TreeMap();
map.put(new Integer(l), "One™);
map.put(new Integer(2), "Two');

map.put(new Integer(3), "Three');

map.put(new Double(0.25), "Quarter'™);

System.out.printin(map);
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C. {0.5=Quarter, 1=0ne, 2=Two, 3=Three }

D. {1=0ne, 2=Two, 3=Three, 0.5=Quarter}
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A. ffi"'] objl.equals(obj2) # % true Eﬁ e Ry Y hashCode ()it e i A Fil
B. Boolean %if[[#f = Comparable /7 [*1 » [ij new Boolean(true)*-4* new Boolean(false)
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